
SAP ABAP table OIJNOMHVB {Nomination Header for Logging}

OIJNOMHVB

MANDT [CLNT (3)]

NOMTYP [CHAR (4)]

BUSTYP [CHAR (4)]

NOMST [CHAR (1)]

NMSHTYPE [CHAR (4)]

STAGES_ID [CHAR (22)]

TSYST [CHAR (10)]

NMSHIPPER [CHAR (10)]

NMCARRIER [CHAR (10)]

NMWERK [CHAR (4)]

NMLGORT [CHAR (4)]

NMVEHICLE [CHAR (10)]

NMTPLST [CHAR (4)]

ROUTE [CHAR (6)]

VKTRA [CHAR (2)]

UNIT [UNIT (3)]

SHNUM [CHAR (10)]

VSART [CHAR (2)]

SHTYPE [CHAR (4)]

VEHID [CHAR (10)]

TSSUOMV [UNIT (3)]

TSSUOMM [UNIT (3)]

CYCPUOM [UNIT (3)]

CARRIER [CHAR (10)]

WERK [CHAR (4)]

LGORT [CHAR (4)]

CONLUOM [UNIT (3)]

TPLST [CHAR (4)]

BULTOLUOM [UNIT (3)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 OIJNOMHVB-CARRIER = LFA1-LIFNR 

0..N

1

OIGS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

 OIJNOMHVB-SHNUM = OIGS-SHNUMBER 

0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 OIJNOMHVB-NMVEHICLE = OIGV-VEHICLE 

0..N

1

 OIJNOMHVB-VEHID = OIGV-VEHICLE 0..N

1

OIJSTAT

MANDT [CLNT (3)]

TABNAME [CHAR (30)]

STATUS [CHAR (1)]

 OIJNOMHVB-NOMST = OIJSTAT-STATUS 
0..N

0..N

OIRARNBT

MANDT [CLNT (3)]

RNBT [CHAR (4)]

 OIJNOMHVB-BUSTYP = OIRARNBT-RNBT 

0..N

0..N T000

MANDT [CLNT (3)]

 OIJNOMHVB-MANDT = T000-MANDT 

0..N

0..N T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 OIJNOMHVB-LGORT = T001L-LGORT 

0..N
1  OIJNOMHVB-NMLGORT = T001L-LGORT 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 OIJNOMHVB-NMWERK = T001W-WERKS 

0..N1
 OIJNOMHVB-WERK = T001W-WERKS 

0..N
1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIJNOMHVB-BULTOLUOM = T006-MSEHI 

0..N
1

 OIJNOMHVB-CONLUOM = T006-MSEHI 

0..N

1

 OIJNOMHVB-CYCPUOM = T006-MSEHI 

0..N

1

 OIJNOMHVB-TSSUOMM = T006-MSEHI 0..N1

 OIJNOMHVB-TSSUOMV = T006-MSEHI 

0..N

1 T173

MANDT [CLNT (3)]

VSART [CHAR (2)]
 OIJNOMHVB-VSART = T173-VSART 0..N

1

TOIGS

CLIENT [CLNT (3)]

SHTYP [CHAR (4)]

 OIJNOMHVB-NMSHTYPE = TOIGS-SHTYP 

0..N

1

 OIJNOMHVB-SHTYPE = TOIGS-SHTYP 0..N
1

TOIJNOMTYP

MANDT [CLNT (3)]

NOMTYP [CHAR (4)]

 OIJNOMHVB-NOMTYP = TOIJNOMTYP-NOMTYP 

0..N

0..N

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 OIJNOMHVB-NMTPLST = TTDS-TPLST 

0..N

1

 OIJNOMHVB-TPLST = TTDS-TPLST 

0..N

1

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 OIJNOMHVB-ROUTE = TVRO-ROUTE 

0..N

0..N

TVTR

MANDT [CLNT (3)]

VKTRA [CHAR (2)]

 OIJNOMHVB-VKTRA = TVTR-VKTRA 

0..N

1


